
Dt: 28.01.2020 
Assessment: Mathematics – 3 

Performance Upliftment 
Assessment Test 2019 - 20 

Time: 8.45 – 10.00 
Max Marks: 25 M 

SECTION-I  

 NOTE: (i) Answer all the questions.             (ii) Each question carries ½ mark. 6× ½ = 3 marks 

1. Find the zero of the polynomial P(x) = a x + b. 

2. From the adjacent figure, find the number of zeroes of the polynomial P(x). 

3. Match the following : 

1. 2x-3 ( ) (p)  cubic polynomial 

2. X2-3 ( ) (q)  linear polynomial  

3. 2x3+3 ( ) (r)  quadratic polynomial 

 A.  1 q, 2p, 3r             B. 1 r, 2p, 3q        C. 1 q, 2r, 3p  D. 1 p, 2r, 3q 

4. If 2x + 3y = 0 and 4x - 3y = 0 then find x. 

5.  How many number of solutions are possible for the pair of equations x = 0 and x = 5. 

6.  If x – y =  7 then find the value of K in the following table.     

X 7 8 

Y K 1 

SECTION –II  

 NOTE: (i) Answer all the questions.             (ii) Each question carries 1 mark. 4×1=4 marks 

7.  Find a quadratic polynomial such that the sum of the zeroes is -1 and the product of the zeroes is 2. 

8.  If P(t) =t3 -1 then find P(1) and P(-1) 

9.  Find the value of ‘ k’ for which system of linear equations x + 2y – 3 = 0 and 2x + ky + 7 = 0 has no solution. 

10.  Check whether the equations 3x - 4y + 8 = 0 and 2x + 5y – 9 = 0 are consistent or inconsistent. 

SECTION –III  

 NOTE: (i) Answer all the questions.             (ii) Each question carries 2 mark. 3×2=6 marks 

11.  Find the zeroes of the quadratic polynomial x2 – x - 20 and verify the relationship between the zeroes and the 

coefficients. 

12. Two angles are complementary. The larger angle is 3o less than twice the measure of the smaller angle. Find the 

measure of each angle. 

13. 5 Pencils and 7 pens together cost `.50/- whereas  7 pencils and 5 pens of the same kind together cost  `.46/- . 

Find the cost of each and pen. 

  SECTION –IV  3×4=12 marks 

 NOTE: (i) Answer all the questions. Each question carries 4 marks. There is internal choice for each question. 

14. A. Obtain all other zeroes of 3x4 + 6x3 - 2x2 - 10x - 5, if two of its zeroes are  
5 

3
   and   - 

5 

3
  (OR) 

 B. Solve : 
2

𝑥
  + 

3

𝑦
 = 13 and  

5

𝑥
  -  

4

𝑦
  =  -2  where xo  and y o. 

15.  A. Verify that 1, -1 and -3 are the zeroes of the cubic polynomial x3 + 3x2 – x - 3 and check the relationship 

 between the zeroes and the coefficients.       (OR) 

 B.  Mary told her daughter, “seven years ago, I was seven times as old as you were then. Also, three years from 

now, I shall be three times as old as you will be”. Find the present age of Mary and her daughter. 

16.  A. Draw the graph of y = x2 + 3x - 4 and find the zeroes.       (OR) 

 B. Solve the following pair of linear equations graphically.  x + 2y = 7 and 3x + y = 11 
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 

-I
½     6× ½ = 3 
  P(x) = ax + b
 P(x) 
  

1. 2x-3 ( ) (p)    

2. X2-3 ( ) (q)    

3.    2x3+3 ( ) (r)  

 A.  1 q, 2p, 3r             B. 1 r, 2p, 3q        C. 1 q, 2r, 3p  D. 1 p, 2r, 3q 

 2x + 3y = 0 4x - 3y = 0  x
 x = 0  x = 5 
  x – y = 7 K 

X 7 8 

Y K 1 

 –II
1     4×1=4 
 
 P(t) = t3 - 1 P(1)  P(-1) 
 x + 2y – 3 = 0  2x + ky + 7 = 0 K 
 3x - 4y + 8 = 0  2x + 5y – 9 = 0 

 –III 
2    3×2=6 
 x2- x-20  
 3o
`.`.


 –III 

4 3×4=12 

 (a) 3x4 + 6x3 - 2x2 - 10x - 5  5 

3
  - 5 

3
  

      

 (b) 2

𝑥
  + 

3

𝑦
  = 13   5

𝑥
  -  

4

𝑦
  =  -2   ( xo   y o) 

(a) 
 
 (b) 
 
(a) y = x2 + 3x - 4 
  (b)  x + 2y = 7   3x + y = 11

 


